INETH *x x FRERSIRICSTIETRHHBEREAD * * * TR27&E1818
BT R A0 BITH g A0 BIT& g A O
B E] ES 2y ] % By ] %
o B HT 887 1,847 910 937| EXKKHEIETH 1,382 3,476 1,726 1,750] #hAET1TH 3,863 9,465 4,740 4,725
EKFET1THE 657 1,618 821 797 LXAXEI6TH 1,023 2,505 1,244 1,261| #HARET2TH 2,478 5,492 2,715 2,777
EKFRI2T B 596 1,301 625 676] LE/KFEET1TH 797 1,821 872 949| XwET1TH 968 2,374 1,168 1,206
EKFET3TH 678 1,534 750 784] EXEET2TH 1,088 2,263 1,135 1,128] Xw#ET2TH 640 1,383 714 669
=hn& 973 2,058 991 1,067] EX@EI3TH 1,232 2,841 1,358 1,483 X#EI3TH 134 313 143 170
/MIET1ITE 8,454 17,552 8,769 8,783| LkmET4TH 485 1,108 583 525| Rw#HET4TH 902 2,178 1,048 1,130
/MIET2T B 2,496 5,400 2,735 2,665] EFH1TH 742 1,694 874 820 ﬁﬁ*;mrgﬁg;ﬁgi% 117 234 120 114
KE1TH 360 733 371 356] ETET2TH 531 1,213 672 541 BET1TH 733 1,689 807 882
KET2TH 676 1,669 859 810 EFHI3TH 1,762 3,051 1,454 1,697 KiBET2TH 770 1,846 926 920
KET3TH 391 902 433 469| ZHEHET1TH 507 1,036 490 546 BET3TH 270 710 371 339
/MIFERT1TH 468 1,051 498 553| ZMEET2TH 842 1,561 635 926] KiAET4TH 805 1,952 1,014 938
/MIIFEET2T B 919 1,850 901 949| ZHET3TH 1,238 2,704 1,211 1,493| KiBRISTH 207 582 293 289
/MIFERT3T B 604 1,169 590 579| #EFER1TH 2,564 4,602 2,284 2,318] KiBET6TH 241 629 302 327
MITEETAT B 813 1514 714 800| F#EFEET2TH 1,927 3,769 1,847 1,922 KiBRI7TH 1,125 2,791 1.241 1,550
/MIFERTS T B 1,204 2,772 1,312 1,460 FEFERTITH 1,145 2,393 1,192 1,201| fENEHERTTTE 1,720 3,386 1,606 1,780
/NJIBRET 714 1,611 781 830| FEIRHET 958 2,246 1,063 1,183| TE/NEHFEBRT2T B 1,074 2,038 1,005 1,033
MIRET1TH 1,410 3,040 1,512 1,528] FERET1TH 1,687 3,194 1,560 1,634| TENEHERTSTH 1,329 3,022 1,549 1,473
MIRET2TH 686 1,366 595 77| FERET2TH 1,384 2,772 1,411 1,361 EhEH1TH 1,773 3,790 1874 1,916
/MIRET3TH 546 1,158 687 471 FZEREI3TH 941 1,869 967 902| 7E/MNEHF2TH 1,207 2,524 1,314 1,210
MIRETAT B 837 1,199 538 661] fhET 4,276 9,167 4,537 4630 TENEHITH 1,064 2,469 1,169 1,300
/MIRETST B 1,194 2,725 1,376 1,349] =EET1TH 1,497 2,718 1,282 1,436] 7E/MN&F4TH 1,046 2,434 1,182 1,252
EKAR1TE 731 1,612 773 839] XEET2TH 616 1,039 534 505 TE/MNEHSTH 1,506 3,259 1,656 1,603
EKKBT2TH 454 1,046 495 551| *=EET3TH 803 1,478 693 785 TENEHE6TH 962 1,853 898 955
EKARIBTH 408 1,009 500 509] [EIHEHET 1,805 4,514 2,262 2,252 fENEHTTH 1,099 2,657 1,345 1,312
EKAETATH 613 1,415 707 708| fH=EHT 1,041 2,420 1,233 1,187 1E/N&H#8TH 536 1,283 663 620
NE 27,769 59,151 29,249 29,902 NF 32,273 67,454 33,119 34,335 NE 26,569 60,353 29,863 30,490
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